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18 BB I 4 A 5 B 6 B 7 B 8 A 9 B 10 B 11 B 12 B 1 A 2 B 3 B HEfE RKHEE
— Bg # e 7 m 0 0 0 0 0 0 0 0 0 0 0 0 10018 /mL =
X i BRELGWLWVERELEWLWVRELEWLWVRE LGV RE LG RRE UG DR UG O R U UD R U7 O R LR D R LR U R HH LR LY T #H
g 1t ¥ 4 A Ulmg/l 11.3 11 10.4 9.1 8 7.4 8.8 9.7 10.8 9.3 115 13 200 #=A
Y (L EREE(TOC)DB)|meg /| 0.7 0.7 0.7 0.7 0.6 0.6 0.6 0.6 0.7 0.4 0.6 0.9 3 #=A
p H ] 75 7.3 7.4 7.1 7.6 7.8 7.7 7.8 7.6 76 7.7 7.6 58~8.6 #A
S EEgl| BEELL| BEE4L| BE4L| BEE4L] BEGL| BEEEL| EELL| BELL| BEE4L] BELGL| EEEGL Byl #H
g = HEELL| BEEGL] BEEGL) BEEGL) BEELGL| BEEGl| BERLlL| BEBhl| BEal| BEEGL| BEEGL| EEBGL Bl #H
=) El E <05 <05 <05 <05 <05 <05 <05 <05 <05 <05 0.8 <05 5 #H
7 Bl E <0.1 <0.1 <0.1 <0.1 <0.1 0.2 <0.1 =<0.1 <0.1 <0.1 0.4 <0.1 2/ #H
W B Ok B B FH|meg 0.5 0.2 0.2 0.2 <0.1 <0.1 <0.1 0.2 0.3 0.4 0.4 0.2 #=A
h F =T 5 Llmg/lI 0.003 3E(Z1[]
7K Rlmg I 0.0005 3E(Z1[H]
+ L lmg /| 0.01 3FE(Z1[H
pis) mg./ | 0.01 34IZ1[H]
E Hlmg /I 0.01 3EIZ1[E
i v O Lt & Pmeg | 0.05 34(Z1[@
B O B E ZE Fmgl 0.04 34F(Z1[H
STUMAT O RUELES T me /] <0.001 <0.001 <0.001 <0.001 0.01 34FIZ1[H
MBEERERVEMBEZSR|mg .| 10 3£(21[A]
2 > FHlmg./| 0.8 3FE(Z1[H
= ) F|lmg./| 10 34FIZ1[H
g & ik & F[mg Al 0.002 3421/
1. 4-S F % 4 Ymg /| 0.05 34 (Z1[A]
SR/MSUR-1,2-0900TFLU | mg /| 0.04 3£(Z1[A]
o g 00 i 432 Umg/l 0.02 3E(Z1[H]
FrES0BITFL U meg/l 0.01 34FIZ1[H]
kysBoBITFL Umg/l 0.01 34&E(Z1[H]
~ > + lmg 1 0.01 34 (Z1[q
i) = Blmg /| 0.19 0.08 0.06 <0.06 0.6 14E(24[H]
9 0O O B Elmegl <0.002 <0.002 <0.002 <0.002 0.02 14E(Z24[H]
4 o a8 & J Llmg/l 0.026 0.027 0.013 0.016 0.06 14E124[q]
S 4 0o o B #mg/l <0.003 <0.003 <0.003 0.003 0.03 14E124[q]
cJoE 400448 U mg/l 0.002 0.002 0.002 0.002 0.1 14E(24[H]
R E Blmg. /| <0.001 <0.001 <0.001 <0.001 0.01 14E124[q]
Wk 0O AR Umg /] 0.035 0.036 0.021 0.024 0.1 14E(24[q]
) s o0 B Elmg 0.011 0.011 0.008 0.01 0.03 14E(Z24[q]
JAaEDHOOAR U mg /| 0.007 0.007 0.006 0.006 0.03 14E(24[H]
J O E & I Llmg/l <0.001 <0.001 <0.001 <0.001 0.09 14E(Z24[H]
BRI LTI T E Flmg/l <0.008 <0.008 <0.008 <0.008 0.08 14E(Z4[H]
£ fnlmg | 1.0 34 (21
7 J = = 9 Llmg/l 0.02 0.2 14121
&% mg./ | 0.3 14E(121[A]
FiE) mg./ | 1.0 SEIZ1[H]
> + Y v Llmg/I 200 3EIZ1[E
< > vl lmg 1 0.05 3EIZ1[H
Ca, Mg% (18 E )mg.I 48 300 1421
x E K B PYlmgl 88 500 14EI21[H]
A4 Y REE K BHllmg I 0.2 3&E(Z1[H]
>  #A 2 = Ylmg/l =<0.000001/<0.000001| 0.000001| 0.000002 0.00001 6~9A8 4[EEE
2-AFLAYRILETA—IL|mg /| =<0.000001|=0.000001 [<0.000001 [<0.000001 0.00001 6~9A8 4[EE
kA4 2 R EE M Fmg I 0.02 3FIZ1[H
T /J — L flmg/l 0.005 34FIZ1[H
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4 F 3 E KESRBRKRFERHB — & ki (S EILEE 5 OKE CR K- EK)
18 BB I 4 A 5 B 6 B 7 B 8 A 9 B 10 B 11 B 12 H 1 H 2 A 3 A HAEE RKHEE 4 AIREK
— I A e 7 m 0 0 0 7 0 0 0 0 0 0 0 0 1001/ mL A 0
X i BRELGWLWVERELEWLWVRELEWLWVRE LGV RE LG RRE UG DR UG O R U UD R U7 O R LR D R LR U R HH LR LY T #A (EAa i )
g 1t ¥ 4 A Ulmg/l 11.1 11.8 9.4 10.2 10.9 13.6 11.8 11 11.1 12.3 13.9 13.7 200 #=A 10.7
Y (L EREE(TOC)DB)|meg /| 0.9 1 1 1 1 0.8 0.9 0.8 0.8 0.6 0.5 0.7 3 #=A 1.1
P H ] 7.4 7.2 7.3 7 7.4 7.3 7.3 7.4 7.2 7.1 7.2 7.4 58~8.6 #A 7.4
S BBl BEEgL] BEEggl) BEEggl) BEEhl|] BEEhl| BEEhl| BEval| BEEal| BEEaL| BEEGL| EEGL Byl #H
g = HEELL| BEEGL] BEEGL) BEEGL) BEELGL| BEEGl| BERLlL| BEBhl| BEal| BEEGL| BEEGL| EEBGL Bl #A BEELL
=) El E 0.6 <5 1 15 1.9 1.1 0.7 2.2 0.7 <5 <5 <05 5FE #H 2.2
A El E 0.2 =1 0.1 0.2 0.2 0.1 0.2 0.1 <0.1 =1 0.1 <0.1 2/ #H 0.5
W B %k B B F|meg 0.1 0.2 <0.1 =<0.1 <0.1 0.4 0.3 0.3 0.4 0.6 0.6 0.6 #=A
A K =T 9 Llmg/l 0.003 3EIZ1[E <0.0003
7K ER|lmg | 0.0005 34FE(Z1[H] <0.00005
+ L lmg /1 0.01 3&E(Z1[H] <0.001
pis) mg./ | 0.01 SEIZ1[H] <0.001
E Hlmg /I 0.01 3&E(Z1[H] <0.001
Nl 70 Lk & Bmeg ) 0.05 3E(Z1[H] <0.002
B O B E ZE Fmgl 0.04 34(Z1[@ <0.004
STUAMAA U RUELELTmeg /1] <0.001 <0.001 <0.001 <0.001 <0.001 0.01 14E124[q] <0.001
MBEERERVEMBEZSR|mg .| 10 3£(21[A] 0.27
7 ) F|lmg /| 0.8 34FE(Z1[H <0.05
aK J F|lmg. /| 1.0 SEIZ1[H] <0.01
m & 1k & F|mg 0.002 3&E(Z1[H] <0.0002
1. 4 -2 F % 4% Umg/l 0.05 3&E(Z1[H] <0.005
L R/NS5UR-12-UonazFLy mg /| 0.04 3EFIZ1[H <0.002
g 0O ot A3 Ulmg/l 0.02 S&E(Z1[H] <0.001
FrSHYO0O0IFL Umg/l 0.01 3421\ <0.001
kysoBITFL U megl 0.01 3421/ <0.001
~N > + lmg./| 0.01 3E(Z1[H] <0.001
15 E Blmg /| 0.09 0.09 043 0.12 0.07 0.6 14E(24[H]
» B B0 B Elmg sl <0002 <0.002 <0.002 <0.002 <0.002 0.02 14E(Z24[H]
4 o a8 & J Llmg/l 0.003 0.005 0.011 0.005 0.006 0.06 14E124[q]
> 4 B Ao # ®Emg 1l <0003 0.003 0.003 <0.003 0.003 0.03 14E124[q]
cJnonESOo00*A%vmg /I <0.001 <0.001 <0.001 <0.001 <0.001 0.1 14E(24[H]
R B Blmg. 1| <0.001 <0.001 <0.001 <0.001 <0.001 0.01 14E(24[q]
Wk 0O AR Umg /] 0.005 0.007 0.015 0.007 0.009 0.1 14E124[q]
) 4 oo B Elmeg Il <0003 <0.003 0.007 0.003 0.004 0.03 14E(Z24[q]
JAaEDHOOAR U mg /| 0.002 0.002 0.004 0.002 0.003 0.03 14E(24[H]
J O £ & J Llmg/lf <0.001 <0.001 <0.001 <0.001 <0.001 0.09 14E(Z24[H]
I LT ILTE Flmg/l] <0008 <0.008 <0.008 <0.008 <0.008 0.08 14E124[q]
i f|lmg | 10 34(Z1[q] <0.005
7 J 2 = 9 Llmg/l 0.02 0.05 0.02 0.03 0.2 14E(Z4[H 0.21
&% mg./ | 0.3 3EIZ1[E] 0.044
i) mg./ | 1.0 3421\ <0.005
> + Y v Llmg/I 200 3E(IZ1[H] 8
< > il lmg /| 0.05 SE(IZ1[H] 0.002
Ca, Mg (1 E )|mg/I 32 34 300 14EIZ21[H] 26
x X K B PYmegl 94 87 100 91 500 14E124 [ 82
A4 Y REE K BHllmg I 0.2 3&E(Z1[H] <0.02
>  #A 2 = Ylmg/l 0.000003|=0.000001| 0.000002 0.000004 0.00001 6~9A8 4[EEE 0.000003
2-AFLAYRILETA—IL|mg /| <0.000001|=0.000001 [<0.000001 [<0.000001 0.00001 6~9A8 4[EE < 0.000001
A F 2 REFE MK Bllmg I 0.02 3EIZ1[E <0.005
7 = J — L #Hlmg/l 0.005 321/ <0.0005
7 v EZT BEE FRmg/l <0.05




